e

PPF Series

108



Ql%] ClctM I (PPF Series)

@

01
Qe CHEFE I A0 110
02
M 111
03
MEE 118
04
sug =E
PPF5 60 LPM (3.6 m/h) — 122
i
o'l'
05 b
FHo od odk
PPF10  130~160LPM 78~96nMh) ——— 124 F'T'l_-l
PPF15  260~300LPM 156~18ni/h) ——— 126 oH
PPF20  350~380LPM 21~22.8ni/h) 128 |H

PPF32 380 ~ 520 LPM 228~312m/h) —— 130

(

(

(

(
PPF45 520 ~ 800 LPM (31.2~48mi/h) 132
PPF64 750 ~ 1,000 LPM (45~60 m/h) 134
PPF100  1,000~1,500LPM  (60~90m/h) 136
PPF130  1,450~2,000LPM  (87~120ni/h) 138
PPF160  2,000~2,500LPM  (120~150 mi/h) 140
PPF190  2,500~3,000LPM (150~ 180 m/h) 142
PPF220  3,000~3,600LPM  (180~216 m/h) 144

109



©® LiTIH|o] 2

@[z

LICk

@ ZE{E2
=3t

CHHI, 22 SZHoll = EX|7} 7+
+ BEO YT, LT AET7F EQOHK] AL CL

@ EhRyet

H} I IT
o O—

E

wr
N
o =

HEAI

o
IH
oo

Rr

4

%>Ioo—|

Ok=12

£[X] g2 A

+

(=}

.
o

=O02E0| &

AN

[e]]

OlLtOI2E Yoz 4

21 24|
+ A /M| 2E:0°C~80°C

R

110



I AHI2 I MXHH

O0— - O

AL 140%E A 1H5HX| OFLIEZ.

8o
© NUEZZO[150%2 27T Al EEYTHO| ALl 65% 00| 2 A.

2H H(m) 150 LPM

160
HELH (S2F0%) 140 f l_%r_%? %4_0% _____________________________ T )
140M O[5! % — Q:100LPM
10 \\\ H: 100m ¥ mf
~—_ Alebx
100
80 Aet22k 15090 M
4 e il et
40
20
0
0 20 40 60 80 100 120 140 160 180 K!Q(mi/h)
0 002 004 006 008 01 012 014 016 018 S (m/min)
| EEEN
B ek x 10 P omei 37 k>
Qe 37| N =2 o
3t A N
I CtA N 2 11
MO chex 10 30 [ pla A ] oot
s 1t o
SERY (n/h) g { I
rn
o oe
H
PPF 100 l
a3z ay
1. 2
HWQ ANG Y Cet Ho :
=e = 2. Algt 22k (ni/min)
1 =z PPF20-30-1 szuus 3. AJtt 2 (m)
2 b 0.35 m/min  %H 100 M ‘ 3 4 =2 kW)
4 &Y 5.5 kw  g|mg 3530 RPM ‘ 5 5§|Ix_-|_1'k_(RPM)
6 azug 2407 #zwz 01234 7 6. ®ZLS
L A/S 1899-4301 J 7 H=HS

111



* SRV |E7 |E MY T HE M-

wr
ORA0lY  QHIFLIEE @R A0l @ e GLFE™ G®MEE @3t A0l
(GCD500) (STS304) (STS304) (STS304) (STS304) (STS304) (GCD500)
f iz sz

+ HA0f Y3t AE{QI2 A AZYSTS304) MES ABS10] BT IAHS WR[SHLICE

=
+ FHE2|X| #(Cartridge Type) M7 H-{Z WS AFS517|0f] DE{ 2{g{0] 7S TH|7} FHSBILICE (PPF32 2 Of)
J =8 A

g A AHE(TEFC) A4 REFST]
3 2 23
HsS& IP55
2HSE ClassF
A 7.5kW O[3} - #4220 /380V
11KW O] AF - &FAF 380V
A Y Y-A
O O @)
Wz U2 V2 W2 Uz V2 é é $
M Uil Vil Wi % \/?1 Wi \L/JVz \>J2 \)/\lz
? 1 1 1
R S T R S T ? ? ?
2AFAF 220V (7.5kW O[5t AHAF 380V (7.5kW O] 5t) 2AHAF 380V (11kw O Ah

112



& 7.5kW 0[5t 11kw 0| A
A2t 220V 380V 380V
7|5 HUIE (A) HAIIS (Y) Y-A71S 2|HE] 7|1& (A)
2E Ut vi| wa Uur Vi Wi Ut Vi W1 Ut | vi| wa
B A W2| U2 | V2 W2 U2 V2 W2 U2 V2 W2| U2 | V2
0—0—0 @9
R S T R S T R S T R S T
MCCB MCCB MCCB MCCB
THR THR THR THR
O{ l{ Oy O{ l{ Oy
MC1 MC1 1 l
FH A HH A
= ut (v lwi
3|2 M
u2(’v2Tw2 u2| v2
.ﬁ u2 (v2 [w2
ui\vi_lwi
M
Uz('v2 [W2
g 7.5kW O[5t 7.5kw 0|5} 11~50kw #HZt 50kW O AF HZt

113

o2t



—
o
(22)
©
aa]
)
x

i

g 7l

= =
_x . .H.d.v.h ,

— —.hrln_“_ .“...H_wﬂ.:.

|: 32A ~ 200A, Al

(o]
He

| =




115



“ PPF5 PPF 10 PPF 15 PPF 20 PPF 32 PPF 45
5 10 15 20 32 45

| 82l (n/h) 3~8 6~15 12~27 21~34 22~46 31~72
E|ch 2 (m) 238 149 159 210 190 180
ZEISE (kW) 15~75 2.2~15 3~15 4~185 5.5~22 7.5~30
B - EZ TFH(A) 32x32 40 x40 50 x50 50x 50 65X 65 80x80
Eax] (KS) 32A10/20K  40A10/20K  50A10/20K  50A10/20K  65A10/20K  80A10/20K

“ PPF 64 PPF 100 PPF 130 PPF 160 PPF 190 PPF 220
64 100 130 160 190 220

s 42l (m/h) 48~95 63~144 96~180 127~239 159~263 180~324
Z|cH 27 (m) 205 230 213 208 220 201
DEISH (kW) 7.5~45 15~75 18.5~90 30~90 37~110 55~110

= - EEF1ZE(A) 100 x 100 100x 100 150x 150 150x 150 200x200 200x200
EHx| (KS) 100A 10/20K  100A 10/20K 150A 20K 150A 20K 200A 20K 200A 20K

- — S S b T
2 0 |\
3 9
4 10 >1=//.,;IL 10 =
= i %
s = Gl — st
12 : ; s
; T 14 = IH el
14 =g NS
15 /s

PPF5,10,15,20 PPF 32,45, 64 PPF 100, 130, 160, 190, 220

116



PPF
THE
5,10, 15,20 32,45, 64 100, 130, 160, 190, 220
=12 . . Aluminum (18.5kw 0l3t) / Aluminum (18.5kw 0ls}) /
0 . .
(Motor) Aluminum (18.5kW 0[3t) Castiron (22kw O] &) Castiron (22kW O] 4f)
E{=E Ductile Castiron Ductile Castiron Ductile Castiron
2 (Bra?ket? EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7
ASTM A536 65-45-12 ASTM A536 65-45-12 ASTM A536 65-45-12
A B[o|A Ductile Castiron Ductile Castiron Ductile Castiron
3 (Sial ba;e) EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7
ASTM A536 65-45-12 ASTM A536 65-45-12 ASTM A536 65-45-12
LI A Tungsten carbide (2|HXH) Tungsten carbide (2|HXH) Tungsten carbide (2|HXH
4 (Mechanicil?eal) Carbon (2 X} Carbon (D& Carbon (D&
Viton (T S£2)) Viton (1 2&!) Viton (T 2&!)
&t C|mx| Stainless steel Stainless steel Stainless steel
5 (Toﬂ diforuser) EN 10088-1.4301 EN 10088-1.4301 EN 10088-1.4301
P AISI304 AISI 304 AISI 304
Clzx Stainless steel Stainless steel Stainless steel
6 (Diff-zl-ser) EN 10088-1.4301 EN 10088-1.4301 EN 10088-1.4301
AISI 304 AISI 304 AISI 304
MZEC|EX Stainless steel Stainless steel Stainless steel
7 (Support diffuser) EN 10088-1.4301 EN 10088-1.4301 EN 10088-1.4301
PP AISI 304 AISI 304 AIS| 304
=2y Ductile Castiron Ductile Castiron Ductile Castiron
8 (CouEl;l ) EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7
plng ASTM AS36 65-45-12 ASTM A536 654512 ASTM A536 654512
ojmay Stainless steel Stainless steel Stainless steel k>
9 (InT i“er) EN 10088-1.4301 EN 10088-1.4301 EN 10088-1.4301 0
P AISI 304 AIS| 304 AIS| 304 -
o
QJE 0] Al Stainless steel Stainless steel Stainless steel 0ok
10 (Cylinder casing) EN 10088-1.4301 EN 10088-1.4301 EN 10088-1.4301
y g AISI 304 AISI 304 AIS| 304 Il
ra
NIE Stainless steel Stainless steel Stainless steel oe
11 (Sf; E) EN 10088-1.4301 EN 10088-1.4301 EN 10088-1.4301 “:|
AISI 304 AISI 304 AISI 304
1 H|o{ Silicon carbide(SiC) / Silicon carbide(SiC) / Silicon carbide(SiC) /
(Bearing) Tungsten carbide (WC) Tungsten carbide (WC) Tungsten carbide (WC)
ol= A Stainless steel Stainless steel Stainless steel
13 (Ir;:j:cer) EN 10088-1.4301 EN 10088-1.4301 EN 10088-1.4301
AISI 304 AISI 304 AISI 304
St Flo[ A Ductile Castiron Ductile Castiron Ductile Castiron
14 (Inlet&outlet EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7
chamber) ASTM A536 65-45-12 ASTM A536 65-45-12 ASTM A536 65-45-12
Hlo|A Ductile Castiron Ductile Castiron Ductile Castiron
15 (Bas;) EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7 EN 1563 EN-GJS-500-7

ASTM A536 65-45-12

ASTM A536 65-45-12

ASTM A536 65-45-12

117



140% 0.06 0.13 0.15 02 0.26 03 0.35 0.4 0.45
100% =of 0.195 | 0.225 0.3 0.39 045 | 0525 | 0600 | 0.675
205 287 5-240
1333 75
280
200 e
273 5220
195 1268 55
266
190 1235
259
185 120.3
252
180 >
175 245 5-200 20100 | 3270
1138 55 185 2
238 15-100 32-70
170 1105 15 2
231 15-100
165 1073 15
160 224 5180 15-100 | 20-90
104 55 15 15
217 15-80 32:60
155 100.8 11 185
210 15-80 32-60
150 97.5 11 185
145 203 5160 15-80 | 20-80 | 32-60-1
943 4 11 15 15
196 10-100 32-60-1
140 91 55 15
189 5150 10-100 | 1570
135 87.8 3 55 11
130 182 15-70-1 | 15-70 2070 | 3250
84.5 75 11 15 15
125 175 5140 | 10-90 15-70-1 | 1570 32-50
813 3 55 75 11 15
120 168 10-90 15-70-1 32-50-1
78 55 75 15
161 5130 32-50-1
115 74.8 3 15
110 154 10-80 15-60 20-60
715 55 75 11
147 5120 10-80 15-60
105 683 3 55 75
100 140 15-60-1 15-60 3240
65 75 75 11
o5 133 5110 | 1070 | 10-70 32-40
618 3 4 4 11
90 126 5-100 1550 | 1550 2050 | 32-40-1 | 32-40-1
58.5 3 75 75 11 11 11
119 15-50
85 55.3 75
80 112 590 | 1060 | 10-60
5 22 4 4
- 105 15-40 20-50-1 | 3230 | 32-402
4838 55 11 11 11
70 08 580 | 10-50 15-40 32301 | 32-30
455 22 3 55 75 11
- 01 10-50 | 15-40-1 1540 | 20-40 32-30-1
23 3 4 55 75 75
60 84 570 15-40-1 20-40-1
39 2 4 75
55 7 560 | 10-40 15-30
3538 22 22 4
50 70 1040 | 15301 | 1530 | 1530 | 2030 | 32-20 | 32-20
325 22 3 4 4 55 55 55
25 63 550 15-30-1
293 15 3
20 56 10-30 | 10-30 1530-1 | 20-30-2 | 32-20-1 | 32-20-1
2 15 15 3 4 55 55
35 49 540 1520 | 1520 | 1520 | 20-20
2.8 15 3 3 3 3
100% 0.06 0.13 0.15 0.2 0.26 0.3 0.35 0.4 0.45
150% E 0195 | 0.225 0.3 0.39 045 | 0525 | 0.600 | 0.675

118




0.52 0.6 0.65 0.7 0.8 0.9 0.96 1.0 1.06 140% |q
0.780 0.9 0.98 1.05 1.2 135 1.44 15 1.6 100%
287
1333 205
1. HE 2%8(m)o|H, Q= R2H(nd/min) ALICH igg 200
2. Y| M2 20| 140% SHEH2 65% LICH 273
| 3.HQo| BY|= I MODEL, S (kW) LICt 126.8 195
4 H2SHA| E5220] 140%S Z2HSHR| St s | 190
. Q0| 150%2 STA| EEA2{0| 65%0| 4} &|0{ofptCt, 259 185
120.3
252
e 180
64-50 245
45 1138 175
64-50 238
45 110.5 170
3270 | 4550 45-50 64-50 231 165
2 30 30 45 107.3
45-50 64-50 224
30 45 104 160
4550 | 64-50-2 | 64-50-2 217 Tee
30 37 37 100.8
45-50-2 | 45-50-2 64-50-2 210 150
30 30 37 97.5
45-50-2 64-50-2 203
30 37 94.3 145
32-60 45502 | 64-40 64-40 196 140
185 30 37 37 o1
45-40 45-40 64-40 189 D
2 2 37 87.8
32-60-1 45-40 64-40-1 64-40 182 130
15 py) 30 37 84.5
45-40 175
2 813 125
32-50 | 45-40-2 | 45-40-2 64-40-1 | 64-40-1 | 64-40-1 168 50
15 185 185 30 30 30 78
45-40-2 161
185 74.8 115
45402 | 64-30 154
185 30 715 110
32-50-1 64-30 64-30 | 64-40-2 147 105
15 30 30 30 68.3
45-30 64-30 140
15 30 65 100
32440 | 4530-1 | 45-30 45-30 64-30-1 | 64-30-1 | 64-30-1 133 95
11 15 15 15 2 2 2 61.8
45-30-1 | 45-30-1 64-30-1 126 90
15 15 2 58.5
45-30-2 4530 | 64-30-2 | 64-30-2 | 64-30-2 119 o
15 15 185 185 185 55.3
32-40-1 45302 | 45-30-2 64-30-2 112 80
11 15 15 185 52
45-30-1 105
15 48.8 75
32-40-2 64-20 64-20 64-20 64-20 98 10
11 15 15 15 15 455
45-20 4520 | 45303 | 45-30-3 64-20 91 65
11 11 15 15 15 423
45-20-1 | 45-20-1 | 4520-1 | 45-20 84 60
75 75 7.5 11 39
45202 | 45-20-2 4520-1 | 4520 | 64-20-1 | 64-20-1 | 64-20-1 | 64-20-1 77 55
75 75 75 75 11 11 11 11 35.8
45-20-2 64-202 | 64-20-2 | 64-20-2 | 64-202 | 64-20-2 70 50
75 11 11 11 11 11 325
45-20-2 63
7.5 293 45
64-10 64-10 64-10 64-10 | 100-10 | 100-10 | 100-10 | 100-10 | 100-10 56 40
75 75 75 75 11 11 11 11 11 26
45-10 64-10 64-10 64-10 64-10 49 35
55 75 75 75 75 2.8
0.52 0.6 0.65 0.7 0.8 0.9 0.96 1.0 1.06 100%
0.780 0.900 0.98 1.05 1.2 1.35 1.44 15 1.6 150% |Q

119




M
@ MHEE
140% 12 135 145 155 16 173 1.86 19 20
100% 1.8 2.0 2.2 233 2.4 2.6 2.8 2.9 3.0
287
205 1333
280 | 100-50 | 100-50
200 130 75 75
273 100-50
195 1268 75
266 100-50 130-50-2
190 1235 75 90
185 259 100-50 130-50-2 | 130-50-2 | 130-50-2
1203 75 90 90 90
180 250 | 100-50-2 | 100-50-2
117 55 55
245 100-50-2 130-40
175 1138 55 75
170 238 100-50-2 130-40 | 130440 | 130-40
1105 55 75 75 75
231 100-50-2
165 1073 55
160 224 | 10040 | 100-40 130-40-1
104 55 55 75
155 217 100-40 130-40-1 | 130-40-1
100.8 55 75 75
150 210 | 100-40-1 | 100-40-1 130-40-1
97.5 45 45 75
145 203 10040-1 | 100-40 130-40-2
943 45 55 55
140 196 | 100-40-2 | 100-40-2 100-40 130-40-2 | 130-402
01 45 45 55 55 55
189 130-40-2
135 87.8 55
130 182 | 10040-3 100-40-2 | 100-40-1 130-30
84.5 37 45 45 55
125 175 | 100-30 | 100-40-3 100-40-1 13030 | 130-30
813 37 37 45 55 55
120 168 10030 | 100-30 130-30
78 37 37 55
115 161 10030 | 100-30 | 130-30-1 | 130-30-1 | 130-30-1
74.8 37 37 45 45 45
110 154 | 100-30-1 | 100-30-1
7.5 30 30
147 100-30-1 130-30-1
105 68.3 30 45
140 100-30-1 130-30-3
100 65 30 37
o5 133 | 100-30-2 130-30-3 130-30-3 | 130-30-3
618 30 37 37 37
% 126 100-30-2 | 100-30-2 130-302
58.5 30 30 45
a5 119 13020 | 130-20 130-30-3
553 30 30 37
80 112 | 100-303 13020 13020 | 13020 | 130-20
5 30 30 30 30 30
- 105 13020 | 13020
4338 30 30
70 08 10020 | 100-20 | 100-20 130-20-1
455 2 2 2 30
o5 01 100-20-1 10020 | 130-20-2 130-20-1 | 130-20-1
03 2 2 2 30 30
60 84 | 100202 100-20-1 130-20-2 130-20-1
39 185 2 2 30
55 7 100-20-2 | 130-202 | 100-20-1 130-20-2 190-10
3538 185 2 2 2 30
50 70 130-20-2 130202 | 130202
325 2 2 2
45 63 130-10 | 130-10 | 130-10 | 160-10-1 | 160-10-1 | 160-10 | 160-10 | 160-10 | 160-10
293 15 15 15 185 185 2 2 2 2
20 st 100-10 130-10-1 | 130-10-1 | 130-10-1 | 130-10 | 130-10 | 130-10
2 11 15 15 15 185 185 185
35 49 100-10 | 100-10 | 100-10 | 100-10 130-10-1 | 130-10-1 | 130-10-1
2.8 11 11 11 11 15 15 15
100% 12 1.35 1.45 1.55 1.6 1.73 1.86 1.90 2.0
150% 1.8 2.0 22 2.33 2.4 2.6 2.8 2.9 3.0

120




225 | 24 2.6 2.7 2.8 2.9 3.0 32 34 36 | 140% |g
3.375 3.6 3.9 4.05 4.2 4.35 4.5 4.8 5.1 5.4 100%
287
1333 | 205
280
2801 200
273
1268 | 195
190-40-3 | 190-40-3 | 190-40-3 | 190-40-3 | 190-40-3 26 | 190
110 110 110 110 110 123.5
160-40 250
90 1203 | 185
160-40 252
90 117 180
245
1u3s | 175
160-40-2 238
90 1105 | 170
160-40-3 190-30 | 190-30 BL | e
75 10 | 110 107.3
160-40-3 | 190-30-1 | 190-30-1 | 190-30 | 190-30 | 190-30 24 | 160
75 90 90 110 110 110 104
190-30-1 | 190-30-1 | 190-30-1 | 220-30-3 | 220-30-3 A7 | e
90 90 90 110 110 100.8
220-30-3| 210
10 | o975 | 150
203
043 | 145
160-30 | 160-30 | 190-30-3 | 190-30-3 19 | 140
75 75 90 90 91
190-30-3 | 190-30-3 | 190-30-3 18 | g
90 90 90 87.8
160-30-1 22020 | 22020 | 22020 | 18 | a0
75 110 110 110 | 845
175
g13 | 125
160-30-2 | 160-30-2 168
55 55 78 120
190-20 20201 220201 220201 161 | ¢
75 90 90 90 748
154
s | 110
160-30-3 190-20-1 19020 | 190-20 | 190-20 | 190-20 47| 08
45 55) 75 75 75 75 68.3
160-30-3 220-20-2 | 220-20-2 1490 | 100
45 75 75 65
190-20-2 | 190-20-2 | 190-20-2 | 190-20-2 | 190-20-2 220202 133 o5
55 55 55 55 55 75 618
160-20 | 160-20 126 %
45 45 58.5
119
5.3 85
160-20-1 | 160-20-1 220203 NG NG 112 20
37 37 55 52
220-20-3 [220:203| 105 -
55 55 4838
220-20-3 | 220-20-3 | 220-20-3 | 220-20-3 | 220-20-3 98 20
55 55 55 55 55 45.5
160-20-2 | 160-20-2 | 220-10 | 220-10 | 220-10 | 220-10 | 220-10 o1 6
37 37 45 45 45 45 45 42.3
22010 | 220-10 | 22010 | 84 60
45 45 45 39
190-10 | 190-10 | 190-10 @ 190-10 7 55
30 30 30 30 358
190-10 | 190-10 | 190-10 | 220-10-1 70 50
30 30 30 37 325
160-10 | 160-10 220-10-1 | 220101 63 25
2 2 37 37 293
190-10-2 | 190-10-2 | 190-10-1 | 190-10-1 | 190-10-1 NG NG 56 20
2 2 30 30 30 2
190-10-2 | 190-10-2 NG NG NG 49 25
2 2 28
225 | 24 2.6 2.7 28 2.9 3.0 32 34 36 | 100%
3375 | 36 39 | 405 | 420 | 435 | a5 48 5.1 54 | 150% |Q

121




‘& PPF5

| EERE
B1
B2 _
E{ Chx}s
- DE| CHXFE
Al
le)
o
10A L l HEIH o] A o
o| O
0wl wn
FLANGE =
" KS 32A,10K/20KAL
o
15A | 360 3
410 4xd18
o \~@ -
R [ ] 2
L 100 50310 soJ
150 180 410
250 210

¥AMY | gn
ooty & ﬂmm b
PPF5-40 15 2 220/380 Y  6205ZZ 6205ZZ 93x93x46 168 132
PPF5-50 15 2 220/380 Y 6205727 620577 93 x93 x46 22 315 377 692 168 132 43
PPF5-60 22 3 220/380 Y 6205727 620577 93x93x46 22 340 404 744 168 132 47
PPF5-70 22 3 220/380 Y 620527 620577 93x93x46 22 340 431 771 168 132 52
PPF5-80 22 3 220/380 Y 620527 620577 93x93x46 22 340 458 798 168 132 52
PPF5-90 22 3 220/ 380 Y 6205727 620577 93x93x46 22 340 485 825 168 132 53
PPF5-100 3 4 220/380 Y  6206ZZ 6206ZZ 104x104x63 22 391 512 903 194 161 67
PPF5-110 3 4 220/ 380 Y  6206ZZ 6206ZZ 104x104x63 22 392 549 941 194 161 67
PPF5-120 3 4 220/380 Y  6206ZZ 6206ZZ 104x104x63 22 392 576 968 194 161 68
PPF5-130 3 4 220/ 380 Y 6206ZZ 6206ZZ 104x104x63 22 392 603 995 194 161 68
PPF5-140 3 4 220/380 Y  6206ZZ 6206ZZ 104x104x63 22 392 630 1022 194 161 85
PPF5-150 3 4 220/ 380 Y  6206ZZ 6206ZZ 104x104x63 22 392 657 1049 194 161 85
PPF5-160 4 5 220/380 Y 6306ZZ 6206ZZ 113x113x66 25 391 684 1075 220 175 86
PPF5-180 55 75 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 758 1185 260 195 108
PPF5-200 55 75 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 812 1239 260 195 108
PPF5-220 55 75 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 866 1293 260 195 109
PPF5-240 75 10 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 912 1339 260 195 121

122



e
gZH(m) 3500rpm/60Hz
260
240
| PPF5-240_
—
2 |
"PPF5-220
200
. PPF5-200
180 "PPF5-180_
160 “PPF5-160_
. “PPF5-150_ —
14 ~PPF5-140_ —
120 PPF5-130- —
“PPF5-120- —
“PPF5-110
100 PPF5-100—
PPF5-00 —
80 PPF5-80—————
o PPES-70- —
PPF5-60—————
PPF5.50 —
40 PPF5-40 ——
20
0
0 1 2 3 36 4 5 6 7 8 22 Q(ni/h)
0 0.02 0.03 0.05 0.06 0.07  0.08 0.10 0.12 013 8 (m/min)
£2{ P(KW) B2 E(%)
0.32 80 k>
0%
0.24 P——r 60 1o
/ ] ot
—IMP-A
0.16 — 40 o
n
| rn
0.08 20 o&
e
|H
0 0
0 1 2 3 4 5 6 7 8 22 Q(ni/h)
0 0.02 0.03 0.05 0.07 0.08 0.10 0.12 013 £ (ri/min)
2% H(m) E4% NPSH(m)
12 4
9 ‘QH(IMP-A)Z 3
6 QH( ) \\,—< )
NPSH——
3 1
0 0
0 1 2 3 4 5 6 7 8 22 Q(ni/h)
0 0.02 0.03 0.05 0.07 0.08 0.10 0.12 013 £ (n/min)

123



‘& PPF10

| EERE
B1
B2
E{ CtX}st
oD E chxpe
/ \
Al
©
o L)
o
8
FLANGE ® &
A2 KS 40A,10K/20KAE | A
15A 4x 19 !25 400 25} 3
450 4x 18
r S ARSI
% : - | - §
130 50 350 SOJ
172 215 450
280 247
oe | P | muma |sn| SHWOR | ossmEem) AL | gy
A
e B o o
PPF10-30 15 2 220/380 Y 6205ZZ 6205ZZ 93x93x46 22 168 132
PPF10-40 22 3  220/380 Y 6205ZZ 6205ZZ 93x93x46 22 340 443 783 168 132 59
PPF10-50 3 4 220/380 Y 6206ZZ 6206ZZ 104x104x63 22 392 453 845 194 161 70
PPF10-60 4 5 220/380 Y 6306ZZ 6206ZZ 113x113x66 25 391 483 874 220 175 81
PPF10-70 4 5 220/380 Y 6306ZZ 6206ZZ 113x113x66 25 391 513 904 220 175 &2
PPF10-80 55 7.5 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 563 990 260 195 90
PPF10-90 55 7.5 220/380 Y 6308ZZ 62087Z 113x113x66 25 427 593 1020 260 195 98
PPF10-100 55 7.5 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 623 1050 260 195 99

124



J ys=zuE
FEH(m) 3500rpm/60Hz
0/, EHO
PpF10-100— 1 150% B4
140 |
——PPF10-90— ~
| | N ~
120 |———PPF10-80—
\ \
oo [ PPRIOTOT—— |
n N
PPFL0-60—— | - N
80
———PPF10-50———— It
‘ \\
60 | PPF10-40 ~ =
| = ~
 PPF10-30
~
\
20
0
0 2 4 6 788 9610 12 14 16 18 |Q(n/h)
0 003 007 010 0.130.13 0.160.17 020 023 0.27 030 S (n/min)

21 p(iW) a2 E(%) (I;é
2.0 80 -
15 Et 60 IS

' ] - 09.&
1.0 — 40
—IMP-A rn
05 e IMP-B 20 h
0 0 il
0 2 4 6 8 10 12 14 16 18 |Q(n/h) IH
0 003 007 010 0.13 0.17 0.20 0.23 0.27 030 R (n/min)
8 H(m) Z245 NPSH(m)
25 | 10
20 QH(IMP-A— 8
15 ————QH(IMP-B)__ = 6
10 4
5 NPSH ——— ,
0 0
0 2 4 6 8 10 12 14 16 18 |Q(ni/h)
0 003 007 010 0.13 0.17 0.20 0.23 0.27 030  S(n/min)

125



‘& PPF15

| EERE
Bl
B2
E{ CEX}3t
o0 E| CHX}
Al
1 LHZIH| o] A
< ¢
B E ol o
o o
N| ™
A2 FLANGE i
KS 50A,10K/20KAE S
15A — 8x®d19 25 400 25 n
: 450 4x 018
N 4x<D14 p@jﬁ 2
WO A —~ o
8 | | S
—

i
130 ‘ 50 350 50 |
172 450

EE1 Hjofz! 2| Etxtei(mm) Q& X|%(mm)

= EF
i oo o

620677 6206ZZ 104x104x63 392 429 194 161

BT

U M
rx I-J

(30 Volt)

PPF15-20 3 4 220/380
PPF15-30-1

4 220/380 6206ZZ 6206ZZ 104x104x63 22 392 474 866 194 161 69

6306ZZ 6206ZZ 113x113x66 25 391 474 865 220 175 79

3
PPF1530 4 5  220/380
4 5 220/380
PPF15-40 55 7.5 220/380

PPF15-40-1 6306ZZ 6206ZZ 113x113x66 25 391 539 930 220 175 80

6308ZZ 620877 113x113x66 25 427 539 966 260 195 87

PPF15-50 75 10 220/380 6308ZZ 6208ZZ 113x113x66 25 427 584 1011 260 195 101

PPF15-60-1 75 10 220/380 6308ZZ 6208ZZ 113x113x66 25 427 718 1145 260 195 102
PPF15-60 75 10 220/380

PPF15-70-1 75 10 220/380

630877 6208ZZ 113x113x66 25 427 700 1127 260 195 102

6308ZZ 620877 113x113x66 25 427 745 1172 260 195 102

PPF15-70 11 15 380 6310ZZ 6309ZZ 160x170x120 51 543 745 1288 311 279 168

6310ZZ 6309ZZ 160x170x120 51 543 790 1333 311 279 169

PPF15-80 11 15 380

>l <|l< | <|=<|=<|=<|=<|=<|x<

PPF15-100 15 20 380 631027 6309ZZ 160x170x120 51 543 879 1422 311 279 211

126



e
gZH(m) 3500rpm/60Hz
200
M Q2o
180 PPF15-100
160
PPF15-80
\
140 PPF15-70
o - PPRISTOL.
—PPF15-60
PPFI560-1 e \\
100 — AN
PPF15-50
\
80 | ——ppF1540— | ~
PPF1540-1 |
) E— E— B
PPFI530— | —
PPF15-30-1 ——
PPF15-20 Y T T
\
20 E—
0
0 5 10 12 15 18 20 25 30 22 Q(ni/h)
0 0.08 0.17 020 025  0.30 033 0.42 0.50 22 (m/min)
=21 p(W) 5L E(%) (I)'é
4.0 80 ';
Eta
3.0 Eta 60 ga
1=
2.0 —IMP-A—— 40 O
I
1.0 —IMP-B 20 mn
n
0 0 il
0 5 10 15 20 25 30 22 Q(ni/h) IH
0 0.08 0.17 0.25 033 0.42 0.50 22 (m/min)
2% H(m) Z245 NPSH(m)
30 12
§§ QH(MP-A— éo
15 ———QH(MP-B)__ .
10 4
5 NPSH— 2
0 0
0 5 10 15 20 25 30 22 Q(ni/h)
0 0.08 0.17 0.25 0.33 0.42 0.50 22 (mi/min)

127



‘& PPF20

| EERE

Bl

B2

LS RN

@D

C
Al
jﬂ
1 LHZIEf|o] A
10A & o
t ] 88
N ™M
A2 FLANGE o
KS 50A,10K/20KAL S
15A 25 400 25|\ 3
450 4xd18
\O n
3 o
g ‘ S
. 130 Lso 350 50
172 450
300

SE| HjofE 2 EFxFeH(mm) QIEHX|=(mm) 2t

=z
e e e o B

6306ZZ 6206ZZ 104x104x63 392 449 194 161

BT

U M
rx kl

(30 Volt)

PPF20-20 3 4 220/380
PPF20-30-2 4 5 220/380

6306ZZ 6206ZZ 113x113x66 25 391 494 885 220 175 81

PPF20-30 55 75 220/380
PPF20-40-1 75 10 220/380
PPF20-40 75 10 220/380

6308ZZ 6208ZZ 113x113x66 25 427 494 921 260 195 88

630877 6208ZZ 113x113x66 25 427 539 966 260 195 103

630877 6208ZZ 113x113x66 25 427 539 966 260 195 103

PPF20-50-1 11 15 380 6310ZZ 6309ZZ 160x170x120 51 543 654 1197 311 279 169

PPF20-50 11 15 380 6310ZZ 6309ZZ 160x170x120 51 543 654 1197 311 279 169

PPF20-60 11 15 380 631027 6309ZZ 160x170x120 51 543 699 1242 311 279 171

PPF20-70 15 20 380 6310ZZ 630977 160x170x120 51 543 744 1287 311 279 212

PPF20-80 15 20 380 6310ZZ 6309ZZ 160x170x120 51 543 789 1332 311 279 213

PPF20-90 15 20 380 6310ZZ 6309ZZ 160x170x120 51 543 834 1377 311 279 214

> > > DD < | < | << |<

PPF20-100 185 25 380 631077 6309ZZ 160x170x120 51 587 879 1466 311 279 215

128



e
FZH(m) 3500rpm/60Hz
240 M Qato|
150% ]
220
——
200 PPF20-100
‘ —~
|
180 PPF20-90
— ~
160 PPFZ(‘)—80
! |
140 PPF20-70 ™~
T~
I |
120 PPF20-60 \\
T~
I~ \
100 [ ——PPF20-50_ AN \\\
PPF20-50-1 - AN
80 [ PPF20-40 T RAERN
| PPF20-40-1 N\
60 PPF20-30 e R— N\
- PPR0302 \\\ \\\
a0 [ PPRO20 | ] ~ N
20 I T~
T
0
0 5 10 15 20 21 22.8 25 30 35 40 22 Q(ni/h)
0 008 017 025 0.330.350.38 0.42 0.50 0.58 0.67 22 (m/min)
=24 p(kW) BEE(%) (I)'E
4.0 80 -
3.0 Eta 60 184
. cCld — ol‘
20 _— MPA—— 40 0
' — IMP-B !
1.0 — 20 i
0 0 il
0 5 10 15 20 25 30 35 40 22 Q(ni/h) IH
0 008 017 025 0.33 0.42 0.50 0.58 0.67 22 (m/min)
o4 H(m) Z245 NPSH(m)
30 12
§§ QH(IMP-A)_ éo
15 \\QHUMP-BLX 6
12 __NPSH | ‘2‘
0 0
0 5 10 15 20 25 30 35 40 22 Q(ni/h)
0 008 017 025 0.33 0.42 0.50 0.58 0.67 22 (m/min)

129



‘& PPF32

| EERE
B1
B2
E{ ChXpst
/ \ @D D E| St
Al
jﬂ
1 LHZIHf|o] A o
mn
10A s &
L 1 § §’
A2 FLANGE | ]
KS 65A,10K/20KZ & ¥ §
15A 8x P19 25 440 25|\ B
o 490 4x P18
NG 4xd14 | |F X0 of o
4 ) nlF ~ e
0 | | ;: &Qﬂ) e A 3
— ‘[:’ T |, pur}
L 170 | 50 390  50]
205 240 490
320 272

B2 2E #od 26 ERtE(mm) AI4(mm) o

-
2y
i T DL

PPF32-20-1 55 75 220/380 Y 6308272 6208ZZ 113x113x66 427 530 260 195

PPF32-20 55 75 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 530 957 260 195 96
PPF32-30-1 75 10 220/380 Y 6308ZZ 6208ZZ 113x113x66 25 427 700 1127 260 195 111
PPF32-30 11 15 380 A 6310ZZ 6309ZZ 160x170x120 51 543 700 1243 311 279 176
PPF32-40-2 11 15 380 A 6310ZZ 6309ZZ 160x170x120 51 543 770 1313 311 279 180
PPF32-40-1 11 15 380 A 6310ZZ 6309ZZ 160x170x120 51 543 770 1313 311 279 180
PPF32-40 11 15 380 A 6310ZZ 6309ZZ 160x170x120 51 543 770 1313 311 279 220
PPF32-50-1 15 20 380 A 6310ZZ 6309ZZ 160x170x120 51 543 840 1383 311 279 223
PPF32-50 15 20 380 A 6310ZZ 6309ZZ 160x170x120 51 543 840 1383 311 279 223
PPF32-60-1 15 20 380 A 6310ZZ 6309ZZ 160x170x120 51 543 910 1453 311 279 231
PPF32-60 185 25 380 A 6310ZZ 6309ZZ 160x170x120 51 587 910 1497 311 279 231
PPF32-70 2 30 380 A 7311B 6311ZZ 170x200x140 76 586 980 1566 355 327 262

130



IM
o

or
i
rx
H1

FZH(m) 3500rpm/60Hz
220 MY Qarel
150% ]
200
———PPF32-70
\
180
L PPF32-60
160 | ppF3260-1 — —— | ~
~
140 4 ppF325S0__ q
- PPF32-50-1 =
120 R N N
R — i =
40-1— — | ~
100 PPF32-40-2 = — N
| —
| | ~
80 [———PPF32-30 ~ T~
PPF32-30-1 — 1 —— | N
60
——PPF32-20 — | — —
w0 | PPF3220-1 I e
T~
20 ~
0
0 5 10 15 20 2425 30312 35 40 45 50 | Q(ni/h)
0 008 017 025 033040042 0.500.520.58 0.67 0.75 0.83 82 (ni/min)
=2 P(kW) 22 E(%)
4.8 80
——tEta
3.6 60
24 mMPA—— 20
N I E— - —IvPB
12 | 20
0 0
0 5 10 15 20 25 30 35 40 45 50 | Q(ni/h)
0 008 017 025 033 042 050 058 067 075 083 S (ni/min)
o4 H(m) Z245 NPSH(m)
40 | - 6.0
; :
QH(IMP-B) :
16 NPSH— i 24
8 12
0 0
0 5 10 15 20 25 30 35 40 45 50  |Q(ni/h)
0 008 017 025 033 042 050 058 067 075 083 SF(ni/min)

131

ogt



‘& PPF45

| EERE
B1
B2
E{ chxpst
aD 2E| CHX}
WFIL[ES o
mn
o] o3 e
o o W o
—
o 1] ]
4} \“ ol Nl ™
FLANGE A Q| =
KS 80A,10K/20KZ 8 ¢ o o [
15A — 8x®23 25 440 25|\ B
490 4x D18
—TIN 4x D14 S
o
g | S o ) g
190 | t 50 390 50
228 266 490
365 304

SE] #jof& SEf EfXtEH(mm) 2I¥X|(mm)

= EF
o o

630877 620877 113x113x66 427 511 260 195 102

R

U M
rx Kkl

=]
=] G0

PPF45-10 55 75 220/380

PPF45-20-2 75 10 220/380 6308ZZ 6208ZZ 113x113x66 25 427 69 1123 260 195 117

PPF45-20-1 75 10 220/380 6308ZZ 6208ZZ 113x113x66 25 427 69 1123 260 195 117

PPF45-20 11 15 380 631027 6309ZZ 160x170x120 51 543 6% 1239 311 279 182

PPF45-30-3 15 20 380 6310ZZ 630972 160x170x120 51 543 776 1319 311 279 228

PPF45-30-2 15 20 380 6310ZZ 6309ZZ 160x170x120 51 543 776 1319 311 279 228

PPF45-30-1 15 20 380 6310ZZ 6309ZZ 160x170x120 51 543 776 1319 311 279 228

PPF45-30 15 20 380 631027 630927 160x170x120 51 543 776 1319 311 279 228

PPF45-40-2 185 25 380 6310ZZ 6309ZZ 160x170x120 51 587 856 1443 311 279 236

PPF45-40 22 30 380 7311B  6311ZZ 170x200x140 76 586 856 1442 355 327 265

PPF45-50-2 30 40 380 7311B  6311ZZ 170x200x140 76 624 936 1560 355 327 296

> > DD << <

PPF45-50 30 40 380 7311B  6311ZZ 170x200x140 76 624 936 1560 355 327 296

132



e
2 H(m) 3500rpm/60Hz
220
M Q20|
200
180 PPF45-50_
] — ]
| | T
160 PPF45-50-2 —
—— =iy
[ | ~
140 PPF45-40___ ~
| B
- PPF45402 —_
120 T
\'\
| PPF45-30— I~ N
100 | PPF4530-1 il — |
PPF4530-2 = T
%0 ‘*PPI‘:45—3‘0—3—\ I s 0 0 [ \ ™
\\5\
PPF45-20— ——
0 | PPF45-20-1 = — N
| PPF45-20-2 I e N~
40 e H— ~
PPF45-10— | T
20 —
0

0.080.17 0.25 0.33 0.42 0.50 0.580.52 0.67 0.75 08%83 092 1.00 108 117 125 {(m/min)

0 5 10 15 20 25 30 3531.240 45 4850 55 60 65 70 75 | Q(n/h)
0

=21 p(kW) =2 E(%) (I;é
10 100 -
75 75 me
. //——n:ta — 0ok
s | IMP-A———— 50

I B N e IMP-B n
25 — 25 mn
/ -
0 0 oe
0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 LQ(ni/h) IH

0 0.08 0.17 0.28 0.33 0.42 050 0.58 0.67 0.75 0.83 0.92 1.00 108 117 125 £ (m/min)

50

|| —
QH(IMP-A)
QH(IMF"-B)-\S é\

|
—NPSH—__ I —

10 ‘

5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 | Q(n/h)

0
0 0.08 0.17 0.28 0.33 0.42 0.50 058 0.67 0.75 0.83 0.92 100 1.08 117 125 R (m/min)

133



' PPF64

J 2z
Bl
B2
@D
HEIH|0| A o
Q o O (o] ) $ S
—
— o| O
& ¢ NI
FLANGE of & ™
KS 100A,10K/20K2& o] 0| ol
— 8x®23 \
15A 25 440 25\ B
/0/ ] . 490 4xd18
4xdla @q» S| o A
g H\ Qo T S
—~ ‘ i ?i:: —

190 50 390 50
228 266 490
365 304

AT} EE1 Hlof2 SE| EEXFeHmm) Q& X4 (mm)

e BB e o e

PPF64-10 75 220/380 630877 620877 113x113x66 427 619 1046 260 195 120

PPF64-20-2 11 15 380 6310ZZ 6309ZZ 160x170x120 51 543 702 1245 311 279 192

PPF64-20-1 11 15 380 6310ZZ 6309ZZ 160x170x120 51 543 702 1245 311 279 192

PPF64-20 15 2 380 631027 6309ZZ 160x170x120 51 543 702 1245 311 279 232

PPF64-30-2 185 25 380 6310ZZ 630972 160x170x120 51 587 785 1372 311 279 234

PPF64-30-1 22 30 380 7311B 6311ZZ 170x200x140 76 586 785 1371 355 327 264

PPF64-30 30 40 380 7311B  6311ZZ 170x200x140 76 624 785 1409 355 327 292

PPF64-40-2 30 40 380 7311B  6311ZZ 170x200x140 76 624 868 1492 355 327 316

PPF64-40-1 30 40 380 7311B 631177 170x200x140 76 624 868 1492 355 327 317

PPF64-40 37 50 380 7312B 631277 224x254x163 76 675 868 1543 395 362 372

PPF64-50-2 37 50 380 7312B 6312727 224x254x163 76 675 951 1626 395 362 374

[ > > T > > - Y T B > > I > B > RSN

PPF64-50 45 60 380 7312B 631277 224x254x163 76 735 951 1686 395 362 399

134



e
gZH(m) 3500rpm/60Hz
220 MY el
150% 9l
200 | PPF64-50
\
180 m
| PPF64-50-2 ™
— ~
160 [ ——PPF64-40
\ \
140 | PPF64-40-1 | <
D O e T~ NC
PPF64-40-2 — .
120 PPF64-30 e \\\
- PPROA301 ~—_
100 : N
. PPF64-30-2 -~ \\
— o
80 PPF64-20 N
\ — N
| PPF6420-1 | —
60 PPF64-20-2 —
—
~
40 PPF64-10
T T~
20
0
0 10 20 30 40 4850 60 63.6 70 80 90 100 | Q(ni/h)
0 017 033 050 067 0.800.83 1.001.06 1.1 133 150 1.67 | (m/min)
=2 P(kW) 28 E(%)
16 100
12 P— 75
m— IMP-A—— 50
P — ___ ———IMP-B 95
0
0 10 20 30 40 50 60 70 80 90 100 | Q(ni/h)
0 017 033 050 067 083 1.00 117 133 150 167 g (ni/min)
o4 H(m) Z245 NPSH(m)
60 10
48 8
36 QH(IMP-A) 6
|
2 QH(IMP-B)__ — 4
1 NPSH — 5
0 0
0 10 20 30 40 50 60 70 80 90 100 | Q(ni/h)
0 017 033 050 067 083 1.00 117 133 150 167 g (ni/min)

135

ogt



‘& PPF100

J 252
Bl
B2
E{ cExpst
oD E] chxtel ]
Al
o] 2 o
S ¢
¢ o
= o| o
@ TR
A2 FLANGE 3
KS 100A,10K/20KZE s 4
15A 8x®23 25 510 25| |\ B
560 4x D18
o n|
| ~
o — \g 911 — N o
< f f S
= — :
225 50 460 50
270 345 560
380 390

ZE o2 2| EtxbeH(mm) QAX|2=(mm)

e o s a o ole

6310ZZ 6309ZZ 160x170x120 51 543 1236 311 279 199

R

U T
rx Kl

(30 Volt)

PPF100-10 11 15 380

PPF100-20-2 185 25 380 631077 630977 160x170x120 51 587 798 1385 311 279 239

PPF100-20-1 22 30 380 7311B  6311ZZ 170x200x140 76 586 798 1384 355 327 268

PPF100-20 22 30 380 7311B 631177 170x200x140 76 586 798 1384 355 327 270

PPF100-30-3 30 40 380 7311B  6311ZZ 170x200x140 76 624 902 1526 355 327 300

PPF100-30-2 30 40 380 7311B 631177 170x200x140 76 624 902 1526 355 327 303

PPF100-30-1 30 40 380 7311B 631177 170x200x140 76 624 902 1526 355 327 303

PPF100-30 31 50 380 7312B 631277 224x254x163 76 675 902 1577 395 362 367

PPF100-40-3 37 50 380 7312B 631277 224x254x163 76 675 1037 1712 395 362 373

PPF100-40-2 45 60 380 7312B 631277 224x254x163 76 735 1037 1772 395 362 398

PPF100-40-1 45 60 380 7312B 631277 224x254x163 76 735 1037 1772 395 362 413

PPF100-40 55 75 380 7313B  6313ZZ 224x254x163 76 763 1037 1800 442 383 483

PPF100-50-2 55 75 380 7313B  6313ZZ 224x254x163 76 763 1142 1905 442 383 486

[ > I > > > B I T B > > > I > T > B > A >

PPF100-50 75 100 380 7314B 631477 224x254x163 76 775 1142 1917 481 409 576

136



e
gZH(m) 3500rpm/60Hz
240 N My Qaol
PPF100-50 150% |
220 =
| PPF100-50-2
200 —
180 [———PPF100-40 i
- PPF100-40-1 ™
| ] —
160 [ PPF100-40-2 -
| PPF100-40-3 —— — ~—
140 | e T~ [ AN
PPF100-30— | T N\
10 [ PPF100-30-1 — q N
- PPF100-302 | ~~__
100 - PPF100-303 [ ~_
| ‘ I — N
——PPF10020 | T \\
80 PPF100-20-1 — T \\
| \ R —— N
PPF100-202 [ 1 \\\
——PPF100-10— | ~——_ .
40 e — N
— \
\§
20
0 57.6
0 10 20 30 40 50”60 70 80 90 96 100 110 120 130 140 150 9 Q(ni/h)
0 0.17 0.33 0.50 0.67 0.8% 9(15.00 1.17 1.33 1500 1.601.67 1.83 2.00 2.17 2.33 2.402.50 92 (ni/min)

=21 p(W) =8 E(%) (I;é
30 100 ';
184
24 _Fta- — 80 0%k
18 60 =
12 — IMP-A 40 il
6 | = ] IMP-B‘ 20 r_l:l_
0 0 ils}
0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 S Q(ni/h) |H

0 0.17 0.33 0.50 0.67 0.83 1.00 1.17 133 150 1.67 183 200 217 233 250 2 (ni/min)

2 H(m) =245 NPSH(m)
60 | | 12
40 — QH(IMP-A)_ 8
;8 QH(IMP BJ\\\\/\ 2
NPS}

10 — 2
0 0

0 10 20 30 40 50 60 70 8 90 100 110 120 130 140 150 9 Q(ni/h)

0 0.17 0.33 0.50 0.67 0.83 1.00 1.17 1.33 150 1.67 1.83 200 217 233 250 L (ni/min)

137



‘& PPF130

| EERE
Bl

B2

2E TR

Al

LHZIt|o| A o
n
RE=——N
o
[€e)
- ol O
+ 1§ §
A2 FLANGE S
KS 150A, 20K . 5 -
&
15A 25 620 25|\ 8
\ 670 4X D18

180

‘ 275 }50 570 50}

332 425 670
485 482
oy YAde | &0 S Hlo12 2| EHXiEH(mm) QI XI%:(mm) zat
A
i BOVO) B la:mm E
PPF130-10-1 15 20 380 6310ZZ 6309ZZ 160x170x120 51 543 1330 311 279

PPF130-10 15 20 380 631027 630977 160x170x120 51 543 787 1330 311 279 283

PPF130-20-2 22 30 380 7311B 631177 170x200x140 76 586 909 1495 355 327 325

PPF130-20-1 30 40 380 7311B 631177 170x200x140 76 624 909 1533 355 327 366

PPF130-20 30 40 380 7311B  6311ZZ 170x200x140 76 624 909 1533 355 327 379

PPF130-30-3 37 50 380 7312B 631277 224x254x163 76 675 1061 1736 395 362 447

PPF130-30-2 45 60 380 7312B 631277 224x254x163 76 735 1061 1796 395 362 485

PPF130-30-1 45 60 380 7312B 631277 224x254x163 76 735 1061 1796 395 362 498

PPF130-30 5 75 380 7313B  6313ZZ 224x254x163 76 763 1061 1824 442 383 581

PPF130-40-2 55 75 380 7313B  6313ZZ 224x254x163 76 763 1183 1946 442 383 594

PPF130-40-1 75 100 380 T314B 631477 224x254x163 76 775 1183 1958 481 409 697

PPF130-40 75 100 380 7314B  6314ZZ 224x254x163 76 775 1183 1958 481 409 710

> > > > I > > I > > = B = B o B > >

PPF130-50-2 90 120 380 7314B 631477 224x254x163 76 860 1305 2165 481 409 767

138



e
gZH(m) 3500rpm/60Hz
240
HH gael
220
PRS0 —
200 |
PPF130-40 i
180 PPF130-40-1 |
| —
160 PPF130-40-2
1ag | ——PPF130-30— -
PPFI30-301 |
120 PPF130-302 | I
PPF130-30-3
‘ "
100 | ’
PPF130-20_ I
I
go | PPF130-20-1 i
| PPF130-20-2  —H
-\
60 8
————PPF130-10
40 ‘ i
- PPF130-10-1 |
— {
20 I———
0
0 20 40 60 8081 100 120 140 160 22 Q(ni/h)
0 033 067 1.001.33135 167  2.00 2.33 2.67 22 (ni/min)
st p() S8 E(%) (I;E
24 ‘ 80 -
18 — 60 i
T IMP-A ogk
12 IMP-B 40
- a
n
0 0 e
0 20 40 60 80 100 120 140 160 180 22 Q(ni/h) IH
0 033 067 100 133 1.67 2.00 2.33 2.67 3.00 22 (mi/min)
2% H(m) S24% NPSH(m)
50 ‘ 10
20 QH(MP-A—— g
30 I B QH(IMP-B) e 6
20 NPLH = !
10 2
0 0
0 20 40 60 80 100 120 140 160 180 22 Q(ni/h)
0 033 067 100 133 1.67 2.00 2.33 2.67 3.00 Q2 (ni/min)

139



‘& PPF160

| EERE
B1
B2
o0 D E Cxpet
Al
LHZIEo] A 2
10A
o o of 2 e
o
[(e]
—
2 ¢ ¥ 8§
A FLANGE S
KS 150A, 20K 5 o -
15A e
R 8 x 25 —
25 620 25 |\ B
670 4x 18
_ o 8 8
o Al =
0 o
2 ‘ ‘ EJL/ \L 8
275 }50 570 50}
332 425 670
485 482

ZE HjojE 2 EFxFeH(mm) QIEHX|(mm) 2t

=z
v e e B

631027 6309ZZ 160x170x120 51 587 1374 311 279 378

x| 7 x{oF
[=} =
=E=] S

rx Rl

(39 Volt)

U 1

PPF160-10-1 185 25 380

PPF160-10 2 30 380 7311B 631177 170x200x140 76 586 787 1373 355 327 350

PPF160-20-2 37 50 380 7312B 631277 224x254x163 76 675 939 1614 395 362 445

PPF160-20-1 37 50 380 7312B 631277 224x254x163 76 675 939 1614 395 362 457

PPF160-20 45 60 380 7312B 631277 224x254x163 76 735 939 1674 395 362 494

PPF160-30-3 45 60 380 7312B 631277 224x254x163 76 735 1061 1796 395 362 506

PPF160-30-2 55 75 380 7313B  6313ZZ 224x254x163 76 763 1061 1824 442 383 588

PPF160-30-1 75 100 380 7314B 631477 224x254x163 76 775 1061 1836 481 409 690

PPF160-30 75 100 380 7314B 631477 224x254x163 76 775 1061 1836 481 409 690

PPF160-40-3 75 100 380 7314B 631477 224x254x163 76 775 1183 1958 481 409 690

PPF160-40-2 90 120 380 7314B 631477 224x254x163 76 860 1183 2043 481 409 720

(= > > 2 > O > I > B > > > = > >

PPF160-40 90 120 380 7314B 631477 224x254x163 76 860 1183 2043 481 409 720

140



IM
o

or

al
=

e

FZH(m) 3500rpm/60Hz
240 M gl
150% ¢l
220
PPF160-40
200 el
| |
- PPFIG0-402
180 | PPF160-40-3 ~
I —
160 oo n
————PPF160-30 S
- PPF160-30-1
140 [ PPF160-30-2 S
PPF160-30-3 S
120 — >~
—
———PPF160-20. §
100 | PPF160-20-1 ~
| I [ — N
- PPF160-202 — ]
80 —— <
N
60 - e
PPF160-10
40 | PPF160-10-1 I — X
] — N
——1 | \\
20 =
0
0 20 40 60 80 100 120 140 144 160 200 20 240  |Q(ni/h)
0 033067100 1.331.67 200 233240 26 333 367 400 | (n/min)

21 p(iW) a2 E(%) (I;é
5 100 o
40 Eta — 80 i

——
30 —_— ] 60 0=f
_— L IMP-A
20 — IMP-B 40 i
0 20 o
0 0 il
0 20 40 60 80 100 120 140 160 180 200 220 240 9 Q(ni/h) IH
0 0.330.67 1.00 1.33 1.6 200 240 267 300 333 367 400 S (n/min)
2 H(m) =245 NPSH(m)
60 ‘ 18
50 L 15
H(IMP-A
40 . QH( | — 12
30 ————— QH(IMP-B) — 9
20 \,/\\ 6
10 NPSH = 3
0 0
0 20 40 60 80 100 120 140 160 180 200 220 240 9 Q(ni/h)
0 0.330.67 1.00 1.33 1.6 200 240 267 300 333 367 400 S (n/min)

141



‘& PPF190

| EERE
B1
B2
aD D Chxpet ]
Al
LiZIto] A 3
10A ’ :
(0] (0] rC%
© © o
" 4 3 3
A2 FLANGE ol T ?
KS 200A, 20K 9
(o] O
15A 12x$25 °
25 740 25|\ B
ol 790 4x D18
. o =
o
S s ] JU \JL: g
350 }50 690 50}
415 790
615

2E Hlof 2E| Bt (mm) Q& X|=(mm)

Zat
e o o a e o ln B

7311B  6311ZZ 170x200x140 76 586 355 327 422

7 x{oF
=
EI%I [= 2 BN

T M
rx Kl

(30 Volt)

PPF190-10-2 22 30 380

PPF190-10-1 30 40 380 7311B 631177 170x200x140 76 624 81 1485 355 327 450

PPF190-10 30 40 380 7312B 631277 224x254x163 76 624 81 1485 395 362 505

PPF190-20-2 55 75 380 7313B  6313ZZ 224x254x163 76 763 1019 1782 442 383 600

PPF190-20-1 55 75 380 7313B  6313ZZ 224x254x163 76 763 1019 1782 442 383 600

PPF190-20 75 100 380 7314B 631477 224x254x163 76 775 1019 1794 481 409 690

PPF190-30-3 90 120 380 7314B 631477 224x254x163 76 860 1147 2007 481 409 720

PPF190-30-1 90 120 380 7314B 631477 224x254x163 76 860 1147 2007 481 409 720

PPF190-30 110 150 380 7314B  6314ZZ 332x388x256 76 902 1147 2049 550 531 870

> > > > > D>

PPF190-40-3 110 150 380 7314B 631477 332x388x256 76 902 1275 2177 550 531 870

142



e
FZH(m) 3500rpm/60Hz
240 MF Qe
150% 2|
220 PPF190-40-3 |
200
180 [————PPF190-30 L b
- PPF190-30-1
- PPF190-303 | v
140 E—
120 |———PPF190-20 — ™
. PPF190-20-1 | N
- PPF190-202 | |
100 — ~ \\ \
80 I~ I
N
60 PPF190-10 ™~
- PPF190-10-1 | —
— PPF190-10-2 | || —~
40 H—— —
——
T~
20 ——
0
0 20 40 60 80 100 120 135140 160 180 200 220 240270260 280 300 | Q(ni/h)
0 0.33 0.67 1.00 1.33 1.67 2.00 2.252.33 2.67 3.003.33 3.674.004.504.33 467 5.00 9 (m/min)
=21 (kW) &2 E(%) (l)-é
5 100 ';
40 _ Fta— 80 o=
———IMP-A — ogt
30 - —IVPB 60
20— —] 40 n
10 ] 20 rn
0 0 il
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 | Q(ni/h) 1=
0 0.33 0.671.00 1.33 1.67 2.00 233 267 3.00 3.33 3.67 4.00 4.33 467 500 9 (m/min)
%% H(m) 4= NPSH(m)
80 | | 20
60 [ — QH(IMP-A) 15
 QH(IMPB}—— T
40 10
— I —
20 NPS 5
0 0
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 | Q(ni/h)
0 0.33 0.671.001.33167 200 233 267 3.00 333 3.67 4.00 433 467 500 9 (m/min)

143



‘& PPF220

| EERE

Bl

B2

2E TR

@D

Al

H

o

>

+

@ =
>
Z
S

= T+
50

0] O
o
o
© © o
o + 3 3
A2 FLANGE R R
KS 200A, 20K Q
[e] O
15A 12 x D25 2
25 740 25|\ B
ol wl o 790 4x D18
. o QN3 M
1= =)
S | ‘ 1 JU \JL: g
350 }50 690 50}
415 790
615 575

H2Mgt 26 B0 2E{ EXFEH(mm) QL8| 2(mm)

2F

TN T
PPF220-10-1 37 50 380 A 7312B 631277 224x254x163 1566 530

PPF220-10 45 60 380 A 7312B 631277 224x254x163 76 735 891 1626 395 362 530
PPF220-20-3 55 75 380 A 7313B  6313ZZ 224x254x163 76 763 1019 1782 442 383 600
PPF220-20-2 75 100 380 A 7313B  6313ZZ 224x254x163 76 775 1019 1794 481 409 530
PPF220-20-1 90 120 380 A 7314B 6314ZZ 224x254x163 76 860 1019 1879 481 409 720
PPF220-20 110 150 380 A 7314B 631477 332x388x256 76 902 1019 1921 550 531 870
PPF220-30-3 110 150 380 A 7314B 631477 332x388x256 76 902 1147 2049 550 531 870

144



e
2 H(m) 3500rpm/60Hz
240
ME 9ol
220
200
180 PPF220-30-3
\
160 i
» P‘PFZZ‘O-ZO\\\\_ ~
- PPF220-20-1 — N
] I — ™
120 PPF220-20-2
s s = S -
100 | PPF220-203 — n
— | \
PPF220-10— B
| D e
60 PPF220-10-1 | —
T ——y
40 —
20
0

216
0 20 40 60 80 100 120 140 156160 180 200 220 240 260 280 300 320 | Q(m/h)

0 0.330.671.00 1.33 1.67 2.00 2.33 2.602.67 3.00 3.333 636.67 400 433 467 500533 f(m/min)

21 (k) =8 E(%) g:

100 100 ';

80 Et 80 o=

60 /’//t ° 60 (1o
/

40 e — P 40 inl

p | e —— | 20 rn

0 0 oe

0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 R Q(m/h) |H

0 0.330.671.001.331.672.00 233 267 3.00 333 3.67 4.00 433 467 500 533 RF(M/min)

2% H(m) SY4+5 NPSH(m)
100 — 20
80 QH(IMP-A) 16
60 o QHmPB). — _— 12
20 . NPSH 4
0 0

\
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 RF¥Q(m/h)

0 0.330.671.00133167200 233 267 3.00 333 3.67 4.00 4.33 467 500 533 | (m/min)

145



